

DOI: <https://doi.org/10.24297/jam.v22i.9451>**Some Statistical Approximation based on Post-Widder operators**Prerna Sharma¹ · Diwaker Sharma^{II}¹ Department of Basic Science, Sardar Vallabh Bhai Patel University of Agriculture and Technology, Meerut (U.P.), India^{II}Modern group of institutions, Ghaziabad (U.P.), India

mprerna_anand@yahoo.com

Abstract:

In the present paper, we study the convergence of real and modified Post-Widder operators in \mathbb{C} , which is known as the extension of approximation of these operators from the real axis in the complex plane. In this direction, we also investigate error estimation in simultaneous approximation and a Voronovskaya-type asymptotic formula.

Key Words: Real and complex Post-Widder type operator, over convergence phenomenon, approximation estimate, Voronovskaya-type result, exact error estimation.

AMS Subject Classifications: 41A25, 41A30

Introduction

In order to achieve better approximation in the recent years, convergence properties of linear positive operators were studied by many mathematician, some of them are listed as [1], [5], [6], [11], [12] and [14] etc. Direct, inverse and saturation results on these linear positive operators can be seen in [8], [9] and [10].

In the present paper, we discuss the approximation properties of complex Post-Widder operators.

For all $n \in \mathbb{N}$, $x > 0$, Post-Widder operators are defined by [15] as follows

$$P_n(f, x) = \frac{1}{n!} \left(\frac{n}{x}\right)^n \int_0^\infty t^n e^{-\frac{nt}{x}} f(t) dt, \quad f \in C[0, \infty). \quad (1.1)$$

These operators preserve constant functions only.

In [13], author has given modified form of Post-Widder operators as

$$P_n(f, x) = \frac{1}{(n-1)!} \left(\frac{n}{x}\right)^n \int_0^\infty t^{n-1} e^{-\frac{nt}{x}} f(t) dt, \quad f \in C[0, \infty). \quad (1.2)$$

Operators (1.2) preserve constant as well as linear functions.

Now, it is obvious that

$$P_{n+1}(f, x) = \frac{1}{n!} \left(\frac{n+1}{x}\right)^{n+1} \int_0^\infty t^n e^{-\frac{(n+1)t}{x}} f(t) dt, \quad f \in C[0, \infty).$$

Now by changing the form from discrete parameter n to a continuous parameter $k \geq 1$



$$\bar{P}_k(f, x) = \frac{1}{\Gamma(k+1)} \left(\frac{k+1}{x}\right)^{k+1} \int_0^\infty t^k e^{-\frac{(k+1)t}{x}} f(t) dt, \quad f \in C[0, \infty).$$

Changing the variable $t = xv$

$$\bar{P}_k(f, x) = \frac{1}{\Gamma(k+1)} (k+1)^{k+1} \int_0^\infty e^{-(k+1)v} v^k f(xv) dv. \quad (1.3)$$

Following [4] and denoting $e_n(x) = x^n$, $n = 0, 1, 2$, we have

$$\begin{aligned} \bar{P}_k(e_0, x) &= 1, \bar{P}_k(e_1, x) = x, \\ \bar{P}_k(e_2, x) &= x^2 + \frac{x^2}{k+1}, \bar{P}_k\left((e_1 - x)^2, x\right) = \frac{x^2}{k+1}, \text{ and} \\ \bar{P}_k(e_s, x) &= \frac{(k+1)\dots(k+s)}{(k+1)^s} x^s \text{ for all } k \geq 1, s \in \mathbb{N}. \end{aligned} \quad (1.4)$$

The procedure of extension of approximation properties of the linear and positive operators from the real axis in the complex plane is known as over convergence phenomenon and it was extensively studied by some authors e.g. [2] and [7].

Present paper deals with the approximation properties of Post-Widder type complex operators studied in (1.2).

Observations in Complex Plane

The first method for constructing complex type Post-Widder operators is according to Anastassiou-Gal [3], for which, the complex convolution type operators for $|z| \leq 1$, are given as

$$\bar{M}_k(f, z) = \frac{k^{k+1}}{\Gamma(k+1)} \int_0^\infty e^{-ku} u^k f\left(ze^{\frac{iu}{k}}\right) du.$$

Now, we lead to following estimates $|\bar{M}_k(f, z) - f(z)| \leq 3\omega_1\left(f, \frac{1}{k}\right)$.

In another method for construction of these operators, we replace x by z directly in (1.3).

Now for all $|z| \leq L$, we have

$$\begin{aligned} \left|\bar{P}_k(f, z) - f(z)\right| &\leq \omega_1\left(f, \frac{1}{k}\right) \cdot \left(1 + kL \cdot \frac{(k+1)^{k+1}}{\Gamma k} \int_0^\infty e^{-(k+1)v} v^k |v - 1| dv\right) \\ &\leq \omega_1\left(f, \frac{1}{k}\right) \cdot (1 + k \cdot LC), \end{aligned}$$

where $\omega_1(f, \delta)$ is the modulus of continuity of f on \mathbb{C} .

By using different method and assuming f as an entire function, we prove quantitative estimates for $|\bar{P}_k(f, z) - f(z)|$. We also find a Voronovskaya type asymptotic formula.

Basic Results

In this section we obtain some lemmas which are useful for proofs of main theorems.



Lemma1: For every $s \in \mathbb{N}$ and $k \geq 1$, we get

$$\prod_{r=1}^s \left(\frac{k+r}{k+1} \right) - 1 \leq 2 \frac{s!}{k+1}.$$

Proof: Taking $s \in \mathbb{N}$ and a fixed arbitrary $k \geq 1$, we apply mathematical induction.

Now for $s = 1$, we have $0 \leq \frac{2}{k+1}$.

Let the inequality is valid for s , we proceed to prove it for $(s+1)$ too.

Infact we have

$$\begin{aligned} \prod_{r=1}^{s+1} \left(\frac{k+r}{k+1} \right) - 1 &= \frac{k+s+1}{k+1} \left[\prod_{r=1}^s \left(\frac{k+r}{k+1} \right) - 1 \right] + \left(\frac{k+s+1}{k+1} - 1 \right) \\ &\leq \frac{k+s+1}{k+1} \cdot 2 \frac{s!}{k+1} + \frac{s}{k+1} \\ &= \left(1 + \frac{s}{k+1} \right) \cdot 2 \frac{s!}{k+1} + \frac{s}{k+1}. \end{aligned}$$

And $\left(1 + \frac{s}{k+1} \right) \cdot 2 \frac{s!}{k+1} + \frac{s}{k+1} \leq 2 \frac{(s+1)!}{k+1}$, for all $s \in \mathbb{N}$.

Therefore above inequality leads to as $s \leq (2s + 2) \cdot s! - \left(1 + \frac{s}{k+1} \right) \cdot 2 \cdot s!$.

After simple computation, for all $s \in \mathbb{N}$ and $k \geq 1$, we get

$$1 \leq \frac{2k}{k+1} \cdot (s!).$$

Hence this is the proof.

Main Results

Theorem 4.1: Taking f as an entire function and $f(z) = \sum_{s=0}^{\infty} c_s z^s$, for all $z \in \mathbb{C}$, such that there exists $L > 0$ and

$B \in (0, 1)$ with the property $|c_s| \leq L \frac{B^s}{s!}$, for all $s = 0, 1, 2, \dots$ (means $|f(z)| \leq L e^{B|z|}$, for all $z \in \mathbb{C}$). Let

$1 \leq j \leq 1/B$, then for all $k \geq 1$ and $|z| \leq j$, $\bar{P}_k(f, z)$ is analytic.

$$\bar{P}_k(f, z) = \sum_{s=0}^{\infty} c_s \bar{P}_k(e_s, z) \text{ and } \left| \bar{P}_k(f, z) - f(z) \right| \leq \frac{2L}{1-Bj} \cdot \frac{1}{k+1}.$$

Proof: According to $|f(z)| \leq L e^{B|z|}$ and $B|z| < Bj < 1 < k + 1$, we have

$$\begin{aligned} \left| \bar{P}_k(f, z) \right| &\leq L \frac{(k+1)^{k+1}}{\Gamma(k+1)} \int_0^{\infty} e^{-(k+1)v} v^k e^{Bv|z|} dv \\ &= L \frac{(k+1)^{k+1}}{\Gamma(k+1)} \int_0^{\infty} e^{-v((k+1)-B|z|)} dv < \infty, \quad |z| \leq j, \end{aligned}$$

which implies that $\bar{P}_k(f, z)$ is analytic for $|z| \leq j$.

Now we can have,
$$\bar{P}_k(f, z) = \frac{(k+1)^{k+1}}{\Gamma(k+1)} \int_0^\infty e^{-(k+1)v} v^k \left(\sum_{s=0}^\infty c_s (vz)^s \right) dv.$$

Now dealing with the infinite sum, we get

$$\bar{P}_k(f, z) = \sum_{s=0}^\infty c_s \cdot \frac{(k+1)^{k+1}}{\Gamma(k+1)} \int_0^\infty e^{-(k+1)v} v^k (vz)^s dv = \sum_{s=0}^\infty c_s \cdot \bar{P}_k(e_s, z).$$

Applying Fubini’s type sufficient condition for commutatively, we get

$$\begin{aligned} \int_0^\infty e^{-(k+1)v} v^k \left(\sum_{s=0}^\infty |c_s| (|vz|)^s \right) dv &\leq L \int_0^\infty e^{-(k+1)v} v^k \left(\sum_{s=0}^\infty \frac{B^s}{s!} |vz|^s \right) dv \\ &\leq L \int_0^\infty e^{-(k+1)v} v^k e^{B|z|v} dv \leq L \int_0^{+\infty} e^{-v((k+1)-B|z|)} v^k dv < \infty, \end{aligned}$$

For all $|z| \leq j, k \geq 1$ and $jB < 1$.

According to inequality (1.4), we have

$$\begin{aligned} \left| \bar{P}_k(f, z) - f(z) \right| &\leq \sum_{s=0}^\infty |c_s| \left| \bar{P}_k(e_s, z) - e_s(z) \right| \leq 2L \sum_{s=1}^\infty \frac{B^s}{s!} |z|^s \left| \prod_{r=1}^s \left(\frac{k+r}{k+1} \right) - 1 \right| \\ &\leq 2L \sum_{s=1}^\infty \frac{1}{k+1} (Bj)^s \leq \frac{2L}{1-Bj} \cdot \frac{1}{(k+1)}. \end{aligned}$$

Hence, it is proved.

Now we derive the quantitative estimate for Voronovskaya type result for complex Post-Widder operators, for which this type of result for the operators (1.3) is given as

$$(k + 1) \left[\bar{P}_k(f, x) - f(x) - \frac{x^2}{2(k+1)} f''(x) \right] = 0, \quad x \in (0, +\infty).$$

Theorem 4.2: Let f is an entire function means $f(z) = \sum_{s=0}^\infty c_s z^s$ for all $z \in \mathbb{C}$, such that there exists $L > 0$ and

$B \in (0, 1)$ with the property $|c_s| \leq L \frac{B^s}{s!}$, for all $s = 0, 1, 2, \dots$ (means $|f(z)| \leq L e^{B|z|}$, for all $z \in \mathbb{C}$). Let

$1 \leq j \leq 1/B$, then for all $k \geq 1$ and $|z| \leq j$, we have the following estimates

$$\left| \bar{P}_k(f, z) - f(z) - \frac{z^2}{2(k+1)} f''(z) \right| \leq \frac{2L}{1-Bj} \cdot \frac{1}{(k+1)^2}.$$

Proof: It is obvious that for all $k \geq 1$ and $|z| \leq j$, we write

$$\left| \bar{P}_k(f, z) - f(z) - \frac{z^2}{2(k+1)} f''(z) \right| \leq \sum_{s=2}^\infty |c_s| \left| \bar{P}_k(e_s, z) - e_s(z) - e_s(z) \frac{s(s-1)}{2(k+1)} \right|$$



$$\leq \sum_{s=2}^{\infty} |c_s| \cdot j^s \left| \prod_{r=1}^s \left(\frac{k+r}{k+1} \right) - 1 - \frac{s(s-1)}{2(k+1)} \right| \leq L \sum_{s=2}^{\infty} \frac{(Bj)^s}{s!} \left| \prod_{r=1}^s \left(\frac{k+r}{k+1} \right) - 1 - \frac{s(s-1)}{2(k+1)} \right|.$$

Now taking $E_s = \prod_{r=1}^s \left(\frac{k+r}{k+1} \right) - 1 - \frac{s(s-1)}{2(k+1)}$, we get the following recurrence formula as follows

$$E_{s+1} = \left(1 + \frac{s}{k+1} \right) E_s + \frac{s^2(s-1)}{2(k+1)^2}, \text{ for all } s \geq 1. \quad (4.1)$$

$$\begin{aligned} \text{We can write } E_{s+1} &= \frac{k+s+1}{k+1} \left[\prod_{r=1}^s \left(\frac{k+r}{k+1} \right) - 1 \right] + \frac{k+s+1}{k+1} - 1 - \frac{s(s+1)}{2(k+1)}, \\ &= \frac{k+s+1}{k+1} \left[\prod_{r=1}^s \left(\frac{k+r}{k+1} \right) - 1 - \frac{s(s-1)}{2(k+1)} \right] + \frac{k+s+1}{k+1} \cdot \frac{s(s-1)}{2(k+1)} + \frac{k+s+1}{k+1} - 1 - \frac{s(s+1)}{2(k+1)} \\ &= \frac{k+s+1}{k+1} E_s + \frac{k+s+1}{k+1} \cdot \frac{s(s-1)}{2(k+1)} + \frac{s}{k+1} - \frac{s(s+1)}{2(k+1)} \\ &= \frac{k+s+1}{k+1} E_s + \frac{s^2(s-1)}{2(k+1)^2}. \end{aligned}$$

$$\text{In view of (4.1), we prove that } E_s \leq \frac{2(s!)}{(k+1)^2}, \text{ for all } s \geq 1. \quad (4.2)$$

By mathematical induction, for $s = 1$, we get $0 < \frac{2}{k+1}$.

Consider (4.2) is valid for s and we also prove its validity for $(s + 1)$.

$$\text{From (4.1), we have, } E_{s+1} \leq \left(1 + \frac{s}{k+1} \right) \cdot \frac{2(s!)}{(k+1)^2} + \frac{s^2(s-1)}{2(k+1)^2} \leq \left(1 + \frac{s}{2} \right) \cdot \frac{2(s!)}{(k+1)^2} + \frac{s^2(s-1)}{2(k+1)^2}.$$

$$\text{If we inflict to have } \left(1 + \frac{s}{2} \right) \cdot \frac{2(s!)}{(k+1)^2} + \frac{s^2(s-1)}{2(k+1)^2} \leq \frac{2(s+1)!}{(k+1)^2}.$$

$$\text{Which is equivalent to } \left(1 + \frac{s}{2} \right) \cdot 2(s!) + \frac{s^2(s-1)}{2} \leq 2(s+1)!,$$

that is also equivalent to $\frac{s^2(s-1)}{2} \leq s(s!)$, means equivalent to $\frac{1}{2} \leq (s-2)!$ and it is valid for all $s \geq 2$.

Hence proof of (4.2) is here.

$$\begin{aligned} \text{Now, } \left| \bar{P}_k(f, z) - f(z) - \frac{z^2}{2(k+1)} f''(z) \right| &\leq L \sum_{s=2}^{\infty} \frac{(Bj)^s}{s!} E_s \leq \frac{2L}{(k+1)^2} \cdot \sum_{s=2}^{\infty} (Bj)^s \\ &\leq \frac{2L}{(k+1)^2} \cdot \sum_{s=0}^{\infty} (Bj)^s = \frac{2L}{1-Bj} \cdot \frac{1}{(k+1)^2}. \end{aligned}$$

Hence the theorem is proved.

Theorem 4.3: If we suppose in theorem (4.2), f is not a polynomial of degree ≤ 1 , then we have

$$\|\bar{P}_k f - f\|_j \sim \frac{C}{k+1}, \quad k \geq 1, \text{ where the constant } C \text{ depends on } f \text{ and } j.$$

Proof: For all $|z| \leq j$, we have the identity

$$\bar{P}_k(f, z) - f(z) = \frac{1}{(k+1)} \left[\frac{z^2}{2} f''(z) + \frac{1}{k+1} \cdot (k+1)^2 \left(\bar{P}_k(f, z) - f(z) - \frac{z^2}{2(k+1)} f''(z) \right) \right].$$

Applying the inequality, $\|P + Q\| \geq \|P\| - \|Q\| \geq \|P\| - \|Q\|$,

$$\text{we have } \|\bar{P}_k(f) - f\|_j \geq \frac{1}{(k+1)} \left[\left\| \frac{e_1^2}{2} f'' \right\|_j - \frac{1}{k+1} \cdot (k+1)^2 \|\bar{P}_k(f) - f - \frac{e_1^2}{2(k+1)} f''\|_j \right].$$

Since f is not a polynomial of degree ≤ 1 in any disk \bar{D}_j , we have $\left\| \frac{e_1^2}{2} f'' \right\|_j > 0$.

In contradiction, it follows $z^2 f''(z) = 0$, for all $|z| \leq j$.

Last inequality can be written as $f''(z) = 0$ for all $z \in \bar{D}_j \setminus \{0\}$ and it is a contradiction with taken hypothesis.

Hence by theorem (4.2) and for all $k \geq 1$, we have

$$(k+1)^2 \|\bar{P}_k f - f - \frac{e_1^2}{2(k+1)} f''\|_j \leq C_{j,B,L}(f), \quad \text{where } C_{j,B,L}(f) = \frac{2L}{1-Bj}.$$

Clearly there exists $k_0 > 2$ such that $k \geq k_0$, we get

$$\left\| \frac{e_1^2}{2} f'' \right\|_j - \frac{1}{(k+1)} \cdot (k+1)^2 \|\bar{P}_k(f) - f - \frac{e_1^2}{2(k+1)} f''\|_j \geq \frac{1}{4} \|e_1^2 f''\|_j,$$

which shows that, $\|\bar{P}_k(f) - f\|_j \geq \frac{1}{4(k+1)} \|e_1^2 f''\|_j$ for all $k \geq k_0$.

For $k \in [1, k_0 - 1]$, we clearly get

$$\|\bar{P}_k f - f\|_j \geq \frac{L_{j,k}(f)}{(k+1)} \text{ and } L_{j,k}(f) = (k+1) \cdot \|\bar{P}_k(f) - f\|_j > 0.$$

As $\|\bar{P}_k f - f\|_j = 0$ is valid only for a polynomial f (degree ≤ 1) for a certain k and which contradicts the

hypothesis. Hence we have, $\|\bar{P}_k f - f\|_j \geq \frac{C_j(f)}{(k+1)}$ for all $k \geq 1$,

$$\text{where } C_j(f) = \left\{ L_{j,k}(f), \frac{1}{4} \|e_1^2 f''\|_j \right\},$$

Combining this with theorem (4.1), we get the required proof.

Conclusion: In the present paper authors have studied convergence properties of Post-Widder operators in complex plane. One can estimates these properties for other linear positive operators. We can also study convergence properties for multivariate Post-Widder operators by applying Laplace transform.



Acknowledgement: Authors are thankful for reviewer for their valuable suggestions for overall improvement of the paper.

References:

1. D. Agarwal, V. Gupta, Generalized hybrid operators preserving exponential functions, Asian-European J. of Math. 2019; 12(1): 1950089, 11 pages. <https://doi.org/10.1142/S179355711950089X>
2. R.P. Agarwal, V. Gupta, On q-analogue of a complex summation integral type operators on compact disks, J. of Ineq. And Appl. 2012; 111. <https://doi.org/10.1186/1029-242X-2012-111>
3. G. A. Anastassiou and S. G. Gal, Geometric and approximation properties of a complex Post-Widder operator in the unit disk, Appl. Math. Letters 2006; 19: 314-319. <https://doi.org/10.1016/j.aml.2005.04.012>
4. Z. Ditzian , V. Totik, Moduli of Smoothness, Springer, New York, 1987. <https://doi.org/10.1007/978-1-4612-4778-4>
5. V. Gupta, A large family of linear positive operators, Rendiconti Del Circolo Matematico di Palermo 2020; Series 2, 69: 701-709. <https://doi.org/10.1007/s12215-019-00430-3>
6. V. Gupta, P. Maheshwari, Approximation with certain Post-Widder operators, Publications De L'institut Mathematique 2019; 105(119): 131-136. <https://doi.org/10.2298/PIM1919131G>
7. V. Gupta, R. Yadav, Approximation by complex summation-integral type operators in compact disks, Mathematica Slovaca 2013; 63(5): 1025-1036. <https://doi.org/10.2478/s12175-013-0152-z>
8. P. Maheshwari (Sharma), Direct theorems for modified Baskakov operators in L_p -spaces, Demonstratio Mathematica 2009; XLII(3): 553-565. <https://doi.org/10.1515/dema-2009-0311>
9. P. Maheshwari, Saturation theorem for the combinations of modified Beta operators in L_p spaces, Appl. Math. E-Notes 2007; 7: 32-37.
10. P. Maheshwari, An Inverse Result in Simultaneous Approximation Of modified Beta operators, Georgian Math. J. 2006; 13(2): 297-306. <https://doi.org/10.1515/GMJ.2006.297>
11. P. Maheshwari Sharma, Iterative combinations for Srivastava-Gupta operators, Asian European J. of Math. 2021; 14(7): 2150108, 10 pages. <https://doi.org/10.1142/S1793557121501084>
12. P. Maheshwari Sharma, M. Abid, Approximation by (p, q) Szász-Beta-Stancu operators. Arab. J. Math. 2020; 9: 191-200. <https://doi.org/10.1007/s40065-019-0240-1>
13. C.P. May, Saturation and inverse theorems for combinations of a class of exponential type operators, Canad. J. Math. 1976; 28: 1224-1250. <https://doi.org/10.4153/CJM-1976-123-8>
14. P. Sharma, Approximation by some Stancu type linear positive operators, J. of Nepal Mathematical Society, 2022; 5(2): 34-41. <https://doi.org/10.3126/jnms.v5i2.50017>
15. D. V. Widder, The Laplace Transform, Princeton University Press, Princeton, NJ, 1946.